Ex1 f(x):U, lim! X!
X X0 X
| xT k0
Sl f=""=4 ”
X —X:—L Xx<0
L X
L4

v

o U sl

. . X
Iimf(x)=lim—=1
X—>0+ X—>O+X

lim f(x) = lim —2 =-1
X0 x-0" X

lem f(X)



a ,f(x

f(x)
XIir{?f(x):M
a ,f(x

f(x)
lim f(x) =L

T Al Mo M1l




lim f(x) = L

lim f(x) = lim f (x) =L

T Al Mo M1l




Ex2  f=XH X
X+1 = .1 x+1
[ x+1_
ol (=" t= X
X (X )=—L x<-1
X+1
LY
X
x"
o -1
x:E—l

T Al Mo M1l

lim f(x) = lim X7 1=1
X =1 x--1" X+1
lim f( = lim ~&*Y -
X -1 x--1  X+1
im f (4
4



X+1, x>2 _
Ex3 f(X)= , lim f (X)
2X_11 X<2 X2
: : i y=Xx+1x>2
Sl lim f(X)=lim(x+1) =3 3
X 2" X 2" |
lim f(x) = lim(2x-1) =3
X2 X-2 | L
lim f(x) =3 / L
y=2x-1x<2 i

Th Al T o 5



